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T & fam e -18, 12, 4 ¢
) -18 12
V=182 +(12)2 +(=4)2 T (=18)2 +(12)7 4 ()’

4
JE18) +(12)? 4 (<4

_-18 12 4
J484 ' J484 " Ja84
-18 12 —4

22 '22° 22

___—_9‘.(1,__2 Ans.
11 11 11°

=[x+ ") dx
3 iy + [etde

3

X
I te b

-

\ns.
= ,[‘1 + e e 4

feram & e
tny de=tanxdy =0

= tany dx=—tan xdy

= [cotxdx+[cotydy=0
= log!sin Xl + log Isin yl = log Icl
= log | sin x + sin )l = log lcl

. i Ans.
sinx+siny=C

- wmt a=2i-3F afw 5=3i+4]
i J ok
:-lxl; = 2 0 "3
134 0
=(0.0-(=3) x4} 7 + ((-3)x3-2x0) ]
+(2x4-3x0)k
=0+12) 7 +(-9-0) 7 +(8-0)k
=127 —9}+8E Ans.
11. y = sin (log x)
Iy d
— =% (sin(og )}
dx  dx
= COS (logx).l
X
_ cos (108X) Ans.
B X
16 9 7
2. g = |23 16 7
32 19 13
=616 7| 9123 7 |+7]23 16
19 13 32 13 32 19

=16(16x13-7x19-923x13-7x32)+7
(23 x 19 - 16 x 32)

=16 (208 - 133) - 9 (299 - 224) + 7 (437 - 512)

= 1200 - 675 - 525

= 1200 - 1200
=0 Ans.



14.

16.

17.

2x-7

f)=
2x-17

y = ———

AT f() =y a

£ (x) g ® )
2x -7 =4y

= v=4dy+7 = x=

2
dy+
f_l 0' = ‘2

tan”! (1) + cos™ (*‘%)

_ E+n_£=%+2’£_£

4 3

3 127
1 -1 T

sl —_ f) = —

sin (3)"‘(:05 (\) )

= cCcos~ (\) ——Sm 1[%)

1

= cos'x=cos!' =

1
x= 7, Ans.

12
—+ -1 ==
5 CcoSs 13

= cos™!

LHS

= fl)=

4y+7

m Ans.

4x+7

. Ans.

4 12 16

= COoS~

5°13

3
e [8-3 ]
(&

65 5

=C()51

T ST ¢ 5,

] T | 1
A=—(A+A)+—-(A-A
2( : 2( )

Sfer %(A+A') T SR a0

TAMET o 2 |
] 35
“ﬁ“[l —1]

31
=>A—|:5—l]
1[6

1 Iy _
qq faar P = E(A-i-A )—5-[6

A+ Al

1 |0 4
e g, A-A _[_4 0]

1
T, Q:E(A—A')= [_04 g

B | —

i
H

il

169

1_14_4]

) RHS, Prov ed.

5)

0 2
-2 0

]

%(A—A') -

3 3
3 -1

18.

19.

P'=[g _3]]=P o pIHfafa &)

e o= 3=
- Q famw =mfaa )

3 3 0 2
W,P+Q=3‘_1+_20
340 3+2

=13-2 140

13-

gm:A:HQ.meqa%wQﬁwquaana{a
|

TE 1Al=2(=2)-5(3)
= —4-15 = 19#0

Al= I—‘% adj A -

1 -2 -3 112 3
-5 2| 195 =2
f(.r)ﬂﬁﬁ%x:ltﬁ

o lim £ ()= lim £ ()= ()

o lim kx?

x—=1*

=4

Putx=1+h h—o, limk(l+h)* =4
h=0

=k(1)}=4 = k=4,ADS

HET x=cos O LoTHL (1)

) =sec (coizs)
=8¢ cos26

1
v = goe! | ———r
Y= sec (?.cos'e—l

=sec”' (sec 20) =20 =2 cos'x [t (i) ]
' ‘_l o -—

' ﬂ= d(2cos  x) _ 2 e

©odx dx Jl—xl J

T&l sin’y + cos (vy) = T

SET a0F v & [ YaFHEAT FT W,

. dy :
2siny. cosy ot 7sin (-\')' 1 v+ \—

y
= sin 2y ;1—: — y sin (xy) — x sin (w) —=0
. . dy .
= (sin 2y - x sin (xy)} e =Y sin (x»)
dy _ y sin (xy)

= - Ans.
dv  sin2y—xsin (xy)°’




3l A v = a D4 sn ) D y=a(l - cos)
dh h
. = atlvecosimn “a0rsmM=aan
‘ :.'n 4’“ “ ) '
v
v asmi
MA v v a4 cosD
d0
0 ) 0
2sin (_' cos (, s 0
- “ & _ S =lan—- AN
5 8 e 0 2
2 COs : (N8 2
2y 2 l
&y, VT O2G =\ % ﬁ =002
T TR vo= o
dv
= dv = ki LA
dr
=317 A
= 37 (0.02 1)
=0.06 x, Ans
24 icil e jscc v(sec 4 tanx) dy
= j.\cc: Xy +J-.\cc v.tan vy i 0.
=tan x 4 sec v + C, A0 |
o sec’(loga) |
25. J’___L dx
\ i
AT, - = log x l
01. | J'.
d- _ | ‘
T ody ox
dv = dz.x
sec’
= I “dz.x '
X }
= Jsecz Z.dx
=tan : + ¢
= tan (log x) + ¢; A1
I
. J dr
20. - : I
l4x° = ll(”l J\l”
0
=tan ' (1) - 1an! (0)
- _JI._,()= E Ans.

27.

2,
T STAEE AT A e dfe s b

2

dx
- . dy . d'y .
T 220 A0 — 37 —;} H 9eqe
i dy” ’

’ﬂ
ity & e \ i
(TAl

wrTer o ) e |

N B T T I 1 E L 1]

M = Gy his

(=M R 232k
S0+ 27 b0 2=y k=314 2)k
=3 - j - 24,
115 N o PN T 1 e 2 e VR
LHS = (absin @)
=a’h’ (I —cos” «)
= a’h? - *b cos’a
= a*h’- (ah cos o)
= (u n)(l_» ;r)—-(;r fr)'
;t.;r ;r h RIS
Tlab bob| T
7 «
T P (A) = “ P = n’ T PANB) =
pulis oo Y (A/B)
P(Ahl{)_ 4713 4
P(B) 9/13 9°

"ol x = Jx VI-x2

X =sin O TqT J;zsin(p U.‘J:l ar,

y=sin"

0 = sin! x T p=sin"" Jx

TT y = sin”! (sine VI=sin® ‘h‘iﬂlWl—sinle)

= y=sin"! (sin® . cos O —sin ® . cos 0)
= y=sin"' [sin (0 - §)]
= }':B—(p
= \'=sin"_t—sin']ﬁ
ly T _
= (—-2‘—(“11 l.\)—i(sin'] Ji)
dv A
dv | 1 ]
= K —=
= dv -2 JI—lJ\)‘ 2Ux
dy |1 L
dx \/I—13 ’Jt -



n/2
32. I= I log sin xdx
0
/2

(T
. I= ‘l[ logsm(-i—x)dx
n/2
o I= Ilogcosxdx

0
T, (i) R (i) Fr SrET w,
n/2
= J(log(sinx)ﬂog(cosx))dx
0
n/2
Ilog (sin x cos x) dx

nIZ 2
sm X
= I=3 J ( )

CIEREEL 2x=z
. 2dx =dz

e B
=2
= z=1 N x=0 = z=0

I'=% 2 2
0 .
15, s i 1 i
_ 2 [10g%n2 4 =—.2_[| sz,
—4-[ Br s g 2 “
0
n/2 m'z

n/2
jlogsinx dx = —glogZ
0

T TER T WifEq T ST &

n/2
Jlogcosxdx =---72£10g2
0

o (1)

- (i)

.. (ii)

v (iV)

gt (iii) T (iv) F,
n/2 m'z
J.log sinx dx = Ilog cosx dx _-21032 Proved

3 m% mam%:mﬁm%

y—.rz « (1)
T Y =x .. (i)
¥
x=y
(1.1)
e 5 >X
V-
v
. (i) T4 (i) ¥,
x=y = ()?
= F-x=0
= x(°- =0
= x=01,1

SEx=0TT (i), y=0
SEx=1TF (¥, y=1

- Waed F wirses fag 00,00 A (1L, DE

T () F, y¥P=x = y=Jx=f(x) GTM
T (@, y=22 =g (x) (")
T [0, 117 £(x)2g(x)

. DHEifET &7 T Inie Aawe

1
- [y w-g@nas
]
Ean
_ﬂ.ﬁi
|_ 3
2

[ (- 0)——(1 0)]_-_l=_ Ans.

j[ﬁ—x ldx _

3. A= =21 +3]+5k & WS =(-2,3,5)
B=3492j+3k F A0S =(-2,2,3)
C=7i+f = frams =(7,0, 1)

X=X
X=X

_Yn _ Ty
Y2=n -z

F THl. ¥/,



35,

30.

x+2 _y-13 _I=
242 2-3 Ju

5
~5

x+2 - y=3 o )
0 T T2

7+2 _0-3 _1-5
0 -1 -2

() 2)=(7,0,1)T@ W,
9_3_-2

0 1 1
cmﬁummmi‘muﬁ:m.a?rﬂgtzm
Far ¥
A,B@a%cq'-réj‘%l
W%@T%mﬁmiwwﬁ—
x+1 _y= =3 z+3 ?&C‘THT)

-3 2 15 Al
f

7 )
==l i-u @ @)

P(37\.-1.27L+3.7L—2) @1 fag PR

T (, -3p+7,2u-7) T@-2 W fag 081

W UER W THGH W AT it § |

=3h-l=p 2A+3=-3A+7 A-2=2u-7.
= =3 —p=1..0) 2A+3u =4 (i) A-2u=-5 .. (i)

Fefte (i) TUT (i) FT T A W L =—] T pu=27TI
Fg= w ), T pdGii) # :
wfa=z fag Q (2, 1, -3) 3T 9FT f&F Direction ratio a, b, ¢

9 FFad TE-EE T @ :
3a+2b+c=0 e (V)
a-3b+2c=0 e (V)

Cross multiplying (iv) 7T (v) ,

a = b = £ =k
4+3) (6-1) —9-2 = ™M

a b ¢

—=—=—=k s a=Tk b=5kc=-11k

75 o G e i

faw erguma Tk, Sk, ~11k 3T (2, 1, -3) F TORT ol Tar

x=2 _y- 1 z+3

T = S T Tk
x—2=y-l=z+3
7 5 11
e &

la a I a a*
A=l b b’ % A=|0 b-a b*-d°
1cd ' 0 c-a ¢’-a’

[Rz -')Rz"‘Rl G R3—>R3-Rl]

37.

1 a a’
=(b-a)(c-a).|0 1 b?+ba+a?
01 c2+ca+a®

[R, ¥ (b - a) Tqr Raﬂ' (¢ — @) common & ]

1 b*+ba+a?
1 2 +ca+a®

[C, % sfewr faem =0 W]
=(b-a) (c-a).[(c® + ca + a*) - (b + ba + a?)]
=(b-a) (c-a) [(c*-b® +a(c-b)]
=b-a)(c-a)(c-b)(c+b+a)
=(a@a-b)(b-c)(c-a)(a+b+c); Proved.

I= j\/az--xz(l)dx

150 f5dT w99 3T @USY: TESeR Y W,
I = (Wa?=x? )x—.[%(a‘—x2

=(b-a)(c-a)1-

)'1’? (-2x)x dx

a‘-x
2, (a—(a*-x%)
= xWa“-x +j dx
a -xz‘
[2_.2 dx
- X a?=x? +azj—————‘[\laz—x dx
a’—x
' L a1 X
= xa?-x* +alsin' 21+ C
a

2 =2 3
= 21 xVa?=x* +a’sin' 24 C
a

, :
I = _;_\/az -xt +~a? sin‘l(§]+c , Proved.

AT =z = x + 2y
SEfE 2 +y >3 .. ()
xX+2y>6 . (ii)
xy>0
(i) x+y=3[x=0]
=y=3

x=%[_v=0]

(i) x+2y=6[x=0]
= y=3
x=6[y=0]
(x,y) [z=x+2y
(0,3)

6
3 3
(2 ‘O) 2
6

3

(60)_
LA 2y = 3




